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AR5 A

EDTA

2
x(Y%)=7Zn0 (%)

_ VEDTA)X (EDT A)X 0. 081379X 4

SI

m(Zn0)

X100

_ VEDTA X «(EDT A)X 81. 379X 4. L

m(Zn0)
:c(EDTA)—
VEDTA)—
m (ZnO)—
81.379 —72n0
4—— 100

10
, mol ° Lfl;
EDTA »ml;
s 23
s g mol;
25

, 100039)
3
Zn0 ( )
(Zn0O) Uwm; EDTA
Uv; Zn0O
(Zn0O) Unm; EDTA
U(',D
3.1 Uwm
TUPAC ( )
Zn0
, 1
1
Zn 65.38 +0. 0001 0. 000058
0 15. 9994 +0. 0003 0. 00017
IUPAC
J3.
2
2
Zn 1 X 65. 38 65.38 0. 000058
0 1 X 15. 9994 15. 9994 0. 00017
2 1
7Z.n0

M (Zn0)= 65. 38+ 15. 9994=81. 3794(g * mol™ 1)

Uy= J(0.000058)2+ (0. 00017)2= 0. 00018

3.2 Uv
3.2.1
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3.2.2
+0.05, .
(%:o. 0204
3.2.3
+37C(
95%). , 2.1x 10" C!
19% 2.11.>;6104>< 3 4. 006ml
0.006ml.
V (EDTA)
uv:
Uy= 0. 00621 0. 02042= 0. 0213m1
3.3 Un
Zn0 , TG328A
, 3 .
3
S¢=0. Img
S,=0. Img
Dg=0.4
A=0.7
Y=3.2
3.3.1
d , d/5,

K

d/5 0. Img/5
Ug(Bm)= (£2)x 2= 2% =10, 016(mg)
1 E J_ ﬁ g

b 2

3.3.2
.
s 6 .
176,
Lap Lxos
U grift (B = %:%
=0.0067C )= 0.017(mg)

Un= JUF(Bm)+U 3 (Dm)
= J0.0162T 0. 0072=0. 017(mg)
3.4 U.

» Ue

x(Y%)=7Zn0 (%)

_ 14.20X0.01089X 81.379X 4., 1 . .1,
0.5012 SR TREERG

2

_ Ox 2 Ox ) 2 9%\, 2 1
U, = ,\d(aM) ><UM+(aV) XU\'Jr(am) X Ul X (

2
10’

1
10

XV Uy XX UR | WX X VX UG,
- m2 ‘ m2 ‘ m4 )>< (

)2

= J& 05X 1079+ 1. 41846145 103+ 7. 25283413 X 10~ DX 1(1_1)

=0.085%
5
V(EDTA) .
Zn0 EDTA A4
Vr
4,
4
ulVy)/ml u(Ve)/ml u®@/(mol° 171)
Nl 0.017 0.019 0. 00011
J6 0.012 0.015 0. 00009
" Jo 0.010 0.013 0. 000085
2 IS0 4.3.9 1 3
ISO 4.3.9 1. s
u, o, ut®
99.97% . , ar  a—
99.73% , 100% s X
, X;j ( )
. ,u’ (X;)=2a%/9. s
a a/3
a a’/6.
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6. 3mm, 0.2Mm . 2
/ / /
b b .
min g mm
. s 1 30 64 0. 6696 1.08
. 1 , 2 40 64 0. 7394 1. 12
3 50 64 1. 1246 1.74
’ ’ 4 60 64 1. 4331 2.32
5 70 64 1. 8879 3.24
, 6 80 64 2.7645 5.26
1 3
/ s /
/ / /g / mm rpm & mm
" 4 8250 316 1 300 64 0.4118 0.52
100 64 1.7747 3. 00 2 400 64 0. 5444 0. 88
200 64 1. 6825 2.96 3 500 64 0.7677 1.20
300 64 1.5235 2.86 4 600 64 1. 0657 1.76
400 64 1.4424 2.38 5 700 64 1.3312 2.24
500 64 0. 9332 1. 62 6 800 64 1.5167 2.54
600 64 0.4394 0. 40 7 900 64 1.9168 3.42
3.4
4
b b
/ / /
min g mm
. . . 1 5 64 0. 6612 0.92
. 27~ 4 2 10 64 1. 6691 2.94
3 15 64 2.3437 4.00
) ) 4 20 64 3.3752 6. 44
. ’ 5 25 64 3.9488 7.86
b b
b b . b
( . 2004
70 800 s .
rpm) , ’ N
, s 50% ,
o b b b
o . b
’ H 10m1r1 1) . 750 i_ °
10rpm : 60rpm .
( 19 > Ul x (%)) :
, U x (%9)] =2X U,=2X0.085%=0.17%
U (X) )
6 2.51% 0.17%.
k=2



